May 03, 2013

Do-now:

Take out your reference sheet from yesterday and use it to
answer the question below.

A cone has a height of 10 inches and the diameter of the base is
12 inches. What is the volume of the cone?
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Note about working with /T
T #2314 T ~ 3. 1%

EXACT ANSWER VS. ROUNDING
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The volume of a cylinder is 925 cubic inches.

If the height of the cylinder is 12 inches, what is

the length of the radius? Round your answer
to the nearest tenth of an inch.
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The volume of a sphere is 9727 cubic inches.
What is the length of the diameter of the sphere?
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